



$$S(x) = 4x - 3 \qquad g(x) = 4x + 3$$
1) $(S + g)(x) = S(x) + g(x)$

$$= 4x - 3 + 4x + 3 = 8x$$
2) $(S - g)(x) = S(x) - g(x)$

$$= 4x - 3 - (4x + 3)$$

$$= 4x - 3 - 4x - 3 = -6$$
3) $(S - g)(x) = S(x) \cdot g(x)$

$$= (4x - 3)(4x + 3)$$

$$= (6x^2 + 12x - 12x - 9) = -6$$

4)
$$(5/8)(x) = \frac{5(x)}{9(x)}$$
 $y(x) \neq 0$ y

$$5(x) = \frac{2 + 8}{2 - 8}$$
Sind

1) $5(0) = \frac{0 + 8}{0 - 8} = \frac{8}{-8} = \frac{-11}{2}$
2) $5(8) = \frac{8 + 8}{8 - 8} = \frac{16}{0}$
Undersined

3) $5(-8) = \frac{-8 + 8}{-8 - 8} = \frac{0}{-16} = \frac{0}{2}$
4) Discuss domain
$$x - 8 \neq 0$$

$$x \neq 8$$

$$-\infty$$
OR

$$\int (x) = \begin{cases}
3x - 2 & \text{if } x < -2 \\
4 & \text{if } -2 \le x < 1 \\
\sqrt{x-1} & \text{if } x \ge 1
\end{cases}$$

$$\int (-3) = 3(-3) - 2 \qquad \qquad \int (-3) = 3(-3) - 2 \qquad \qquad \int (-3) = 4 \qquad \qquad \int (-3$$

Plot
$$A(-3,-2)$$
 and $B(5,4)$

1) Draw \overrightarrow{AB}

$$= M(\frac{2}{2},\frac{2}{2})$$

$$= M(\frac{2}{2},\frac{2}{2}$$

5) Sind the equation of
$$\overrightarrow{AB}$$
 $y = mx + b$
 $y = \frac{3}{4}x + b$

Use (5,4), Plug it in, and Sind b.

 $y = \frac{3}{4}x + b$
 $y = \frac{3}{4}x + b$
 $y = \frac{3}{4}x + b$
 $y = \frac{3}{4}x + b$

Multiply by 4

 $y = \frac{3}{4}x + \frac{1}{4}$

in Sunction notation

$$y = \frac{3}{4}x + \frac{1}{4}$$

in Sunction notation

1) Simplify
$$\frac{\chi^{4}y^{2}}{\chi y^{3}} = \frac{\chi^{3}}{y^{1}} = \frac{\chi^{3}}{y}$$

2) Sactor: $\chi^{2} - 36 = \chi^{2} - 6^{2} = (\chi - 6)(\chi + 6)$

3) Sactor $\chi^{2} - 12\chi + 36 = (\chi - 6)(\chi - 6)$

1,36
2,18
4,9
$$= (\chi - 6)^{2}$$

Reduce
$$\frac{\chi^2 - 25}{\chi^2 + 10\chi + 25}$$

$$= \frac{(\chi - 5)(\chi + 5)}{(\chi + 5)(\chi + 5)} = \frac{\chi - 5}{\chi + 5}$$
Reduce
$$\frac{\chi^2 - 16}{\chi^2 + 5\chi - 36} = \frac{(\chi - 4)(\chi + 4)}{(\chi - 4)(\chi + 4)} = \frac{\chi + 4}{\chi + 9}$$

Special Factoring
$$A^{3} - B^{3} = (A - B)(A^{2} + AB + B^{2})$$

$$A^{3} + B^{3} = (A + B)(A^{2} - AB + B^{2})$$

$$\chi^{3} - 27 = \chi^{3} - 3 = (\chi - 3)(\chi^{2} + 3\chi + 9)$$

$$\chi^{3} + 64 = \chi^{3} + 4 = (\chi + 4)(\chi^{2} - 4\chi + 16)$$

$$\chi^{3} + 64 = \chi^{3} + 3 = (\chi - 5)(\chi^{2} + 5\chi + 25)$$

$$\chi^{3} - 125 = \chi^{3} - 5 = (\chi - 5)(\chi^{2} + 5\chi + 25)$$

$$\chi^{3} + 1000 = \chi^{3} + 10^{3} = (\chi + 10)(\chi^{2} - 10\chi + 100)$$

Reduce
$$\frac{\chi^2 - 4}{\chi^3 - 8} = \frac{\chi^2 - 2^2}{\chi^3 - 2^3}$$
Hint:
Factor
Completely
First
$$= \frac{(\chi - 2)(\chi + 2)}{(\chi - 2)(\chi^2 + 2\chi + 4)}$$

Reduce
$$\frac{\chi^{2} + 14\chi + 49}{\chi^{3} + 343}$$

$$= \frac{\chi^{2} + 14\chi + 49}{\chi^{3} + 7^{3}} = \frac{(\chi + 7)(\chi + 7)}{(\chi + 7)}$$

$$= \frac{\chi^{3} + 343}{\chi^{3} + 7^{3}} = \frac{(\chi + 7)(\chi + 7)}{(\chi + 7)(\chi^{2} - 7\chi + 49)}$$

$$= \frac{\chi + 7}{\chi^{3} + 7^{3}} = \frac{(\chi + 7)(\chi + 7)}{(\chi + 7)(\chi^{2} - 7\chi + 49)}$$
Solve $(3\chi - 5)(2\chi + 7)(\chi - 8) = 0$
by Zero - Sactor Prop.
$$3\chi - 5 = 0 \qquad 2\chi + 7 = 0 \qquad \chi - 8 = 0$$

$$3\chi - 5 = 0 \qquad 2\chi + 7 = 0 \qquad \chi - 8 = 0$$

$$3\chi - 5 = 0 \qquad 2\chi + 7 = 0 \qquad \chi - 8 = 0$$

$$3\chi - 5 = 0 \qquad 2\chi + 7 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0 \qquad \chi - 8 = 0$$

$$\chi - 5 = 0$$

Solve by Zero-Sactor Prop:

$$\chi^{2}-2\chi-15=0$$

$$(\chi-5)(\chi+3)=0$$

$$\chi-5=0$$

$$\chi+3=0$$

$$\chi=5$$

$$\chi=-3$$
Solution Set